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A particle moves in a ‘1\5%"3 ¥ e
circular path of radius va\l L3
r = 0.8 m with constant speed ahE -7
(v) of 2 m/s. The velocity 3
undergoes a vector change Av
from A4 to B.
Express the magnitude of Av in terms of v and
A6. Express the time interval Ar in terms of v,
A6, and r. Obtain the magnitude of average
acceleration by computing Av/At.
= [io8 Y, =V =V= 2 ms AV
_ . 40 . A8 _
AU= 2V sine = 4sin = mls Xy
A B
R = r,f,‘e = 0'8;8 = 0.440 s
. 80 . AB
L. Ay dsin g sm
o™ AT T 9440 88/2
Y o e E ﬂ'l& ?_ 1
X ‘% ii— fad S0 5 Ogy s mls® 4 diff
@) 30° I5° 6,262 0.259 4,94 1]
(8 15° 7.5° 0.1309 0.1305 4,99 0.3
(©) 5° 2.5° 0.043c 0.043 4998 5,03
_ v 2* 2
An~ F T o.8 ° 5 mls



